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Q. No 15 and 16)
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"’Some “of the Football players are

o B;idminton'players, some Badminten

-'18._

players = are Tennis players, no°

“Football player is a Tennis player.‘

.. Which of the_f{nlloWillg venn diagrams

correctly represents  the . above
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There. are ti#o-iﬁots placed in the .

I Question Figure. Find out the answer -

“figure. Which has the possibility of

._:pla(.mg the doLa satlsfylng th(, same ;

R "'condztmns as in th(, Questwn hgure o

- Question Figure :
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: 19. : -Select a suitable figure from the four

S given matpix, T
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- Two positions of ‘2 dice are shown

_-'below When number- 1is on Lhe top

' what numbc: wall bL at Lhe bottom ?:
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Auang,(, Lhc iollowmg wmds in a
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B '-"'Lh.:m Blpll] Chetan. could not 1un as

o the race ?
- (1) Deepak
~ (2) Chetan

. (® Bipin

(]) Thursday SRR
; (2) Frlday S Lo

(1) Light Ilcavy.

In & race Amar was runmng faster

' _i_‘-fast as Amar but ran fastel ‘than

- Deepak. Bipin too coul_d -not run. as

fast as Chetan but ran faster than

~ Deepak. Who wﬂi bL the Wmn(‘l n

.. _If 1‘ rldaV fall% on loth of beptembcr
2000, whdt will be. the_day on 15th of
-Septemher 2001 7.
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+ father s age becomes double that of

.."(‘l) 26 years |
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At present the father is ()lder' than the

. _son by 25 years, Aftel 13 years the

*the son. What is father's age now ?

(2) 37.):ears_

In a row of boys, Vishal is seventh

from the lefs and Kamal is eleventh |

from the right. When tlie_y--exc_h_ahge_

7 their places, Vishal is thirteenth from

- the left. What is the new pt3$ii_;i_011 of |

(2 17th

Kam 1 from the right ? - .
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. In an examination some questions
-carry 2 marks each and some others 4
A student scored 40

marks by attempting 15 questions

‘marks each.

" alrymg 2 marks dld he attompt

correctly ?

W 15

@ 12
@8

Di: ection :
foﬁowmg 1nformat10n

P
of R' but 'R' is not the mothcr of Q. P and

' R is a married couple. "I" is the brother of

Aunt of W

L/vé\wé) Qw«-«%’

_ 47 Who ig the, mothlar of 'Q' 7 J _,_J%?_gy

(2) Brother -

| ‘NTSE(Level-1) Exam. Nov. - 2017
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Q. No. 47 to 49 are based on
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~ Who i 18 Lh(. w1fc. of "I“ ?
MR

- 80.. From the given --a_lt_e_r_hative words,

select the word whi(:h cannot be

for med u%mg the lLthrs of the gwen
.- oword I
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Questions : 51 to 100

:._Dn ectmn (Q 51 to 53) _ _
-Select the word- whrch meam the opposzte of
_ .the gwen word L :

1 'Annoy :
(1) award

\,(6)/ pralse :
52 I__nchned:
s (1) fair

@ please
(@ applaud

(4) blaqed
53 : :é'bnfr,ss'- o f o S

: lﬁ(}) concede e

oy conmst
’ (3) deny ok
'_(4) admlt f_ )

Dwectmn (Q 54 & 55)

Select the most app} opmate Opl‘_wn_ to'_'_gflll m
the blan}es fr om the gwen alte} ‘natiyes.

_'Haryari& '

i '(2) am born

' (3) bore

‘}Aﬁ was born

.'NTSE(Level 1) Exam Nov. ﬂ2017_ »

o '\,(«Zflmpartml,_ -

famlly of o

(27)

' _Note Must f111 Language Optlon 6f Page 1 at Sr. No 10 of 0 M R Sheet__

CPART - II (9T - II)
LANGUAGE TEST

AT R
(Enghsh Language) :

_Dzrectzon (Q 56t060) :
Read . the foZlowmg passage. cmefuﬂy___

_ m osr appr oprmfe_ optwn.

1. of its appeal 1s to the acqu131t1ve 1nten31ty

e

55. Tive hu_ndféd.'néﬁ houses
by theend of nextyear: < . o
(D) werebuilt

(2 were bemg buﬂt

L(,Si‘/ will be buzlt o

(4) w111 bulld

answer the queshona based on, Li C

'-The capltahst system of soc:lety does not o

'fostcr

- beings. A fcw peoplc own. all, t:he means of
producuon and others - though nommal}.y' -
" few have: to. sell the1r_ Tabc

healthy relatlons among - human

upoh them,_ The
emphasm Of capltahsm being on the supl emt

conditions - imposed .

, -1mportance of matemal Wealth the 1ntens1ty a
_"promotes worshlp of cconomla power w1th'
"llttle regard to _the rncans employed fc)r lts .'
acquisition and the end that it serves. Byits 0

,explo:tatxon of human bemgs to thc limits of -
_endurance its congentration is on

Thus the division of human famﬂy is. done -

. .-..'on the -basis. of egonomic. urcumstance All -
| -~ this 1s injurious. to lesmn of human ;
dlgmty And whon the harrowed poor turn to

P T O..-

bour under IR

e largest -
profit rather than maxlmum__productmn




A S (28)

the. founders oi' 1chg10n {01 buu,our th(,y

subtle doicnce fox, ‘the

" pather offer a |
I‘hw promla(, future

'-':cstabhahed order.
_ happmess for their present suiff,rmg and.__ 'j
. conjure up visions of paradise to redress the .
“balance to goothe the. suffmmg and ‘the -
revolt of the Lortumd mexn. ’lhe system

' nnposes mjustlcc tho 1ehglon3ust1£1cs 1t

Capltahsm 8 1n3umous to human
- relations because it . d1v1des someLy

- into two, groups: .. G
\/m workmg and non- workmg
(%) exploiters and explmtod '
ks .'-._(3) religious and 1rre11g1ous
- .\(4) buyug and sellem '
57 :-f:._""_ln a capltalletlc svstern of somety each_
' man w1sh(,s B : : :

o '_:".(1) to acqulre maxlmum wealth
v f_i'_'-"i(2) to produ(:t, max1mum wealth
s “to have visions of_pa "'dlée
i '_,:"'(4) to soothe the s ff "n 01' othex o

_' .'In a capltahst syatem Feraill
S ':(1) Lhe means ]ustlfy the ends
R (2) _e ends jusmfy t’no mecms _
N Lhe means endor&.ed by rellglon :
are strlctly tuliowed '

o ::"f('l) means whmh lead to exploltﬁtlon

ale stnctly p1 oh1b1ted

The

B9, passage 111d1cates that
T capltah%t Syswm s o
':5"(1) falr o

.'.::'_:'(2) ambltlous R

3 prospc.mus ERA

'..Dtrectwn (Q 61 to 65)

" Thcn sLood GIELL and &pokc my thanks

-'-aI 1ay in want and gnu‘. nd pain

Sy 1) - dehumamsmg

- NTéE(L_e_vel-l)_Exam._No_v_.f _2_01___'? o '

6{) The D‘“at(lb]l%h(,d order is bupporu,d by-:;
_ g rehglon to:. .

' -"(1) allwmte tllt suff(.nn;: of thL pom::-\

_ in the (.dpltdhst system AR

o _(2) pelpemate the injustice Jmpoaed
- by the (,apltailst bysl,em T

L3 _bfllanu, the suﬂermg of~ Lhe poor
G with hopoza of futurc Tew, ards

Thelp Lhe t01tuled mcn 'Lo bLLk_
'_-.;LdrOS&, I

Read the. folﬂowmg poc,m caiefully and.
answer ihe que.sﬁwns bcrsed on r,t Choose rhe_

most appropr Lm‘,e optwn
Ilay in: sorrow in doep dlStI‘OSS : :f "l:!:'ﬁ e
o My grmfa proud man heald B
His 1001{3 w : __.n, -cold he gave mo gold N

o But not *1 kmd]y word

. '._My sormw passed Ipald hlm :chkii:"f' L

The gold he gave to me

.. 'ﬁ And blessed hlS ch ri

Apoorman a_ ed __ywa CRREE

i "'He bound my- hea . he g: ve

Hc watched me mght and dayﬁ"

How qhall I pay hnn back aga
_ I*o: a]l h(. chd to me 9]
.;._Oh gold is greai but g,rmtei far

1s heavenly sympathy



"'Whon he was in dcep dlguegg p -
(1 :ﬁ'iHL Look him’ home v' i
_ ) He gave %ome money .
He pmcd the poet’
) He Wdtchcd the- poc,t d.ay and
.-mght :
"-_glve the poet ?.
W geld

o : (3) moncy

e (4—) attenmon _ o

. '_-poet‘? R

Whlch was hurt

(2) The 13001 man.gave hnn food ’md

B "-.'not true

@) The poor

man thanked

}) - _'When the poet_wa
. fwas given money

:’I‘he poet repmd
. 'proud
'chanty

poor man f01 hls Sympath‘sf

N’I‘SL(Level 1) anm. Nov._ 2017

) K 29)

' 'How chd the P oud man help Lho poet

_"What was 1t th(, proud man.: d1d not- '

) _ _:_'How d1d the poor man take care of thc -

"."3-"-5:_-';:._(1) The poor man bound hlb head._'}

in sorrow he

s debt to the
‘man, by biebsmg }11%

4) The poet says he cannot repay the ] :

A

6 Whmh WDld in Lhc, B ..".Jl.’f‘lﬁfl.r.ls
" "feeling of pity - or sorrow. “for - the
' -\:dlstleb‘% ofanothez’ p Tl

e .--_(1) kmdness (2) blcssmg

®) .sympathy 7 (,hamy 'Z;'i.'

Dzrecnon (Q 66 to 70)

Read rhe folfowmg pas.sagc mmfuliy (md
answer the questions: based on, :,r Chooae Hw o
' m,o*sf appropr rate Uptmu ' ' '

"It is bccommg very. dangelous to slt in.
the sun. If you th(‘ a fdshl()lldb]l; %untan it o
doesn't. necessauly mean that you havo ]ots -
- of outdoor- actlv;tles but it -does mcan Lhat
1 you are-in gu,atu dangu oi g,ottlng &km o
E cancer cmd Latamctb The ozone layu which.
from the : bunb

'protec,tb dange: oua,

_ultmvmlet mys 1.5 p)‘.‘OngbSlV(‘ly
~_detei mmtmg In I*ebtuary ]992 <1 scxenuﬂc )
report said that pu)plo in Landda Northern »
Europe. and B.usma were 111 Serloucs dangel

'- __'ln 1989 Lh :new% of debtructmn of the omne

-destruct.lon of the omne 1ayer ‘?

T 1(}1‘1"15{(,1 ators _
mdustrml

Qn" rnn 1 ‘Ir") {_,

over Lh(, world dbkod govunmcnts td 241(.__'3. L

_ and not to Slt m the bun tht causes he R




A
strict _
governmenis did, but not ‘soon (,nough

measures - immediately. =~ Some

‘Other ¢oumtries believe that they have other

problems which are more. important. Now
stricter measures are going to be taken, but
-already a lot of damage hd&; _bg,_.Ln done. .

.............

dangerous to the skm
(1) The ozone. layer is '
{2) The atmosphere 1s .

M ltravmlet rays are |

(4) The sand storm 1s

--GT.,.CI‘CS are (,anEd by..., ........ L
ﬁ_:.(l) researchers ' AT
3".-'(2) ecologists

._,@’)/ aerosol spfays and mdustues

4y archaeologmta o

68. F ashlon'lble suntan m'ay ' .

t

o (1) make you look dark‘

. '(2) cause skm cancey. and cataract

: '_.(3) rnake you look be aum,ful

- Mt. be acc_?«eptablc:e.to B Lo

The duthor 1s not very _a '

(1) clear (2) hopeless

hopeful (4) OifeHSlVe

b '70 The word 'deterlora’se in thc passage, :

(1) to become healthy

__'\.MO becomo worse '

(3) ’co ber_ome strong

(4) 1o become hea]tﬁy and strong -

NTSE(Level 1) Exam Nov - 2017

(30)

-ﬁen!mms come from a parag aph The fI,H:ﬂ

“and the last sentemes are glven.

Direction's (Q:71 & 72) The following five

Choose the right .order m whrch the_ three '
sentences (PQR) should appear “to complei,c :
the pmagr aph. '

71. S, The proverb goes, ‘If spee(,h is

silver, silence is golden

R e RN R PR A L L L A

._S5 We should Lalk when 1t 1s must

P Abovo all we should know when
not to talk, how much t,o talk and
whaL to 1alk ' '

extremely

_I'Q

It precmus

quahty to know when to, talk how-
much Lo talk and what to ta]l( L

R~ We should therofore al_ways

S remembel ~tohgue

Lo U.hB oun

sparmgly

Choose from the optlons gwen bolow

U"{ FRQ
. (3_)'. RQR{;' -

= __'_:___'('_4)_ PQR -




"--__'%1 ’l‘ht, -great advantagc of  early
uamg is that one can btcn't one's

"work long befou, other

...............................................

'-._-._:;‘;a Also we fmd" tlme Lo do some

L _' exer cise in the {resh mm mng air.

dmount of hard wor'k beforc oth(,r

o Q The Work donc at Lhdt ume 38

gencrally We‘ll done - .:. . .. .

R~ _ In _'the early m orn;ng ‘the mmd is

- disturb our attention..

" Choose from the op_t'iér'i_s 'g.i_‘f.eﬁfﬁé_lp__\’.’__;':'

; @ RPQ

® RQP
QR
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.1) The early risers. can do a large |

Drredmn (Q 7"3 w 75)

Seiecr: Hre rneamng of fhe gwen Ldrorna I

.73. Bung Lo book

| (l) to Dunlf-,h R
C @towite

| M *?f‘amcmbérf -

74 Fly for 1113 moon . - -
(1) to woop on. fallure _
(2) to quh fo: somethmg lovmg

.. \Wep for.a beaut:fu} thmg _. : '

_ (_4_) to WJ._Ell_ i.or s:om_(,_th_ln_g, nnqumble -

7. Challk cmd cheose o
. -. Mﬂfeu.nt from ea(,h other

(3) Slmliér u) each other

(4) ;Wrﬁ;e and eat

'Directfon .' (Q 76 Lo So) 'Cthose "fh(, wo;d g
which best fi,lﬂs ﬁw blank f; om ihe gwen four SR

opimns.

3 76 The :buth Df' a gul thld in: Indlan

_'_.wcmty 1s AL e .-_._.'_ ....... LVLnt
-:(1) unwulwmcncbb n e
--'(z) unwc]come

' (.3) unwelcomely |

L \}A{ unwelcommgiy

-\




77 We holld plant.a .............. number

of trees 1o xeduu, Lhe envaronmcntal

_ po]iutwn.
. (1) great (2) big
\_,(,35/ large (4) high

78, The tireless work and selfiess help of |

the people controlled the .......o.........
~within a few days.

" (1) occasion

M'tualtion

79, Three chﬂdm_n: have Beemt ..vveverrerin,

(2) event -
- {(4) incident

from the school for persistent bad -

~ hehavior. .

_ r}]ﬂ'emoved _

(3} erased

(2) deleted
(4) - abolished.
. 80. . 'I‘énu'Bhardwaj, a'young poetess, has

_ ‘beén. receiving a lot of ..ol
' publicity for her i 1mpresawe poc,Lry

(1) ‘adorable \}%/zadvexsc

3) addittiﬁe (4) a-vc_rse_

”'_'81_.. The _K'éi.pii Sharma show has been

RETIITTTE the best, comedy show of the

: LQZ{ rated

'(3)_év'a_1uated_ (@) viewed

82 The chief guost was veriivonie.. at the

: _bChOOl gate by the prmupa] and othel
-_ Staif members.

(Z) gxcoted

(3) honoured ;\_j,)/ welcomed

: (1) respected

N’[‘SE(LeveLl) Exam. Nov, - 2{}17

83, Al firsts of the baby are ..........0.....
in the pdrenm nz(_moueq AR

(1) written
¥ inscribed

84. -Ma}:két leaders usually . want o
' e e their market shaye éven :
further, or at least to protect then
Cullont market shau, N

' (D estabh&,h
\/(f) increase -

(3) dominate |

(.a) carvcd

(.4) etched

(4) decrease

85. Children grow. up é__nd_ _eventually

start leading their individual life 'a

_ hfe that . - to them

(Y refers o
2) bciongs

(@ relates

_. 3 v CONcerns

Direction : (Q. 86 to 88)."

Bl in the bf-_a_n_k :..5:1_:.@0,9;:@ “the most
appropriate - option. -(giving"--:thp """simila'.
meaning as shown in the opfwna) from the
gruen phrases:

86. Tho j’aolice are the robbmv
' of a famous painting. -
(1) _ﬁndmg.m
(2) finding out '

V(J)/ 100kmg on

(4) 1ookmg mto




. 87, ‘Vou have missed many lessons, ‘so
i _now you will have to
G _Lh_e_x students,

trarriererriae,

= c?‘_ﬁh up with
@

learn with
.'mix with

889My bl‘OLh(—‘l 8 weddmg wag 011g1n311y
S b(,heduled for May 14, but it has been
el unml Novcmber 24

E o .(1) put up

put off
B - (3) put away _'
R -':.(4-)_ p_'ut 10

-___.Dzrectzon :(Q. 89 & 9{))

sentence mussing. . Choose the oppr opriate
senren ce fr oin rhe geven, opuon 2‘0 complcée it.

"'-.__Malgaret travelled about with

Ramakrishna _Ml_ss__l_op and ba_w
different parts'of India. =

i
S Oflndlans
REGY

This was :;omethmg., May gax et dld

Thiz is ‘sunply 1mp0%1bl<, for us to
think of.

(3) She must have. bLen some genius.

~in India.

N'I‘S_E(Ltf:_vé_l.-l_)_ Exam, Nov. - 2017

The jfollowing. questmns hcwe Hw second :

“some of the missionaries of Lhe'

bhe lear nt the wavs .—md mannels

She V:tSlted dlﬁ(,rt,nt hoiy pld(,es

(33)

~ birth -of (93)

_gloom and despair (94)

It has been observed that there is
surge
computers.

90. i

i {:rj.me;s - involving

T P PP
Computer crimes are fast dand.

- growing because the evolution of
technelogy fast, but the
evolution of law M slow. '

111,
is

{1) People commit computer crimes
because of easy availability of

' computers, _ : '
' People commit computer crimes

because of society's ~declining

~ ethical standards more than any
economic need. '

(3) People commit computer crimes

because  controls  can't - bé

implemented. - '

- (4) People commit computer crimes

becauaa tisnota natzona] pi foblem. . .

Dn‘ectwn (Q 91 to 100)

In fh? foﬁowmg paswge there are some -

Tl ih? blmil.s
selecting the m,_o_sﬂ.__-appmpri.aﬁg__ word for-each "

numb;r ed blanks.

blank from the given options.

An important task (9 1{) ............ ._1'_;he youth r,cm

' succe_ssfully undertake is '-to._e}.im_ina_'te_ the. .

curse of dowry. Dowry is responsible for a

large numbe] ot deaths of mnocont malrmd _
the _
parents of the mar ric\;,eable d::tu;,hiuaa The

girls and hamqsmorﬂ: (().z)

........... Indlan

daughtu i
80CI8LY 18 an unwe]u)m{, event. It genudi es

simply-because of the large dowry which will

~ be requirved for marrying the girl. The youth,

S P

b:};. R

the parents - -~




A
(95)

.............

f._-;j_ot to give and accept dowry. Also they .
: {96) ............ force their parents to stop, this .. |.

- undesirable practice. This problem . directly

:-they.. can easily fight it and (98) lives-

«from being lost. The youth in the citigs can

get in touch with the youth in.the rural
oareas (99) ... educate them with a view
' }of creating a mass movemeht for the
- abolition of dowry. Where legal sanctions
agamst dowry (100),

movement by the youth wi]]_'pr(_)\kc effective.

o

':‘.M_ﬂt

_(4.).

91, (1) this

(3) who - What;:

of -

@

92..(1) to
o ®

: -:-for
- 93, ¢ _émy -afz._f(?aJ the e
@ \@Teach
84 ) with - @t
o .mmong W for
{1 e\_f.el.'.y-.-’" __'.(./(211._']::0'1;]1_[
@l @
(1

50

9

wﬂl \_(2')’0311

98 P
o 'znighju_“*"_’-_'_f_"(_@1:)_"¢aghtf

3

= 97 _ ﬁhelnselves"'(_z) .-hilnself S

"11_98._\_}1’('02111 save (@ saved

(3) save " (4) “saves

, this social

herself ‘_gja’/ltself - o

(34)

boys and girls;can take a pledge =] 77 eI

. . r 1 100'_.\__,:(1)
- concerns the youth OT) e . Therefore .|

\Aﬁ/ﬁadmdﬂy failed . . _

199, (D). yet {2 and

will nearly fail

(3) - nearly failed
(4) have nearly failed

NTSE(Level-1) Exam, Nov. - 2017




"Qiié'sti'o'ﬁs 101 to Ezno
lﬂi Whlch one of {,he fo]lo#wng is made of
i """.only one type of ma.:,romolecule 9
'j)':_.'Vlms_ L |
(2) Plasmld = e |
/ .'i\:}'m,.tcleosome Qnﬂﬁ PM/ mf &

:'-(4) Rlbosome S

2. _j_Among : carbohydrates, - llipids

. __protems and ATP, the relatxve energy
_.:yleld in kcal!gm is best 1Lpresented_ :
-'..."_-__5(1) Llplds > Carbohydrates > ATP
.".:.".--.:-_(2) ATP > Llplds > Protems

U Llplds = ATP > Carbohydrates

S 3'..(4) L1p1ds > Protems > ATP

03 The sub umts of r1bosomes m cellb of

o nephron ofmouse are ! R . : S
| M( 508 & 308';’.'_ e
(2) 403&233';. .

o (3) -’?OS& 165

 PART-TI (WT 1) N
SCHOLASTIC APTITUDE TEST ——
S?Tféi-cﬁ zﬁwar qge

101,

_?

102,

108.

(4) 603&405' L e
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@) 708TU16S

:-'ﬁﬁﬂﬁ‘f?@mw%? SR

".(1)%@3

_(2) t&naﬁs

N m( .)
: .(4) TI%'@IW

Wﬁé‘;ﬂw qﬁﬁaa?ATPﬁ?r

wﬁaﬁeﬂf%wmm%ﬁﬁnﬁ :

-;-_'Wﬁﬂﬁw%
= A1) T >q;réﬁg]5’§§'{=r >ATP __
e (2) ATP > 381 maa e

| (4_) m>ﬁ|ﬁ? >ATP E

Wé}ﬁi% S )
"-"__(1) 508?{817303

@) .40_5 il 23S .




-

-.:'-_104. Involuntary muscles are n ;f}un 2 _

'(_1)_ Ims '

o :(g) b1 Onf_,hl of lung

tonguc
'_(4) heart

leferent micr oorgamsms Laklng part
-in nitrogen cyele are :

_. / Rhmobmm in roots .

Ammomfymg ba(,terla

- '1_0_5 .

L Nltrliymg bactcz 1;1 B
o ,_’)7/ Domtnfymg bacteria

i,

“Which of ‘them fstru,ﬂy work under

L anauobxc (,ondluons T

(}J onlylv '

| ;,(Zf 1&1v
' (3) 1,11&1v _
@ &w

1086, The fo]lowmg plctm es Were dmwn by

bmary flsswn

@@)

) @

'_-’I‘hc, cor rect bequence%ﬁ these f1gu1~es -'

@) v,
(3

@

1, i, iv, i

iv, 10, 3,1

~ NTSE(Level-l) Exam Nov.-2017

(35)

104, aﬁﬁ@a wﬁﬁm Ff??"'ﬁ“cﬂ %
::_'...:(1) g—dsﬁi’f B
':"'_(2) b @ awﬁmff r?r

105

|" 106, 't
a btudent to bhow d1ffe1 ent stages of ;

ET-TGTR“@]T ?ﬁr ??E??Hq %

¥ -__(l) -
@
o (3

@

._;m@a?%ﬁwa%aﬁqwaﬁa_

e @ i e?w v :ff!
3) 1, 11 Gﬁ? w R L
: (4) 11 aﬁq‘ v o |

4) E{chﬁ

m%ﬁ‘eﬁr{‘oﬁaﬂarﬂ
ﬁqﬁsﬁﬂﬁeﬂa@

;:r'ﬁf A P-a Rrey %ﬂﬁf aﬂmﬂzb—cr
.ﬁﬁﬂﬁﬁﬁmm%? e

eﬁr aseﬁ 3 ﬁic P sita

i, iif, iv, 1 0

v, i, 4,1




_\f.,formatlon of' . 5"_1-

" the thyroid gland 7
(1) ~Sodium DI
' '.'_...I(2) ' (‘hloﬁde _

o (3) Potassmm
Mlodme I o
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108,

'__107'.'-1-.."531“%‘ ﬁ qﬁ?{ ﬁ ﬁ?ﬁﬁq EBT 'fff%lfﬁr CHREIN

. '_(1) gﬁq;[
@ ‘*“ﬂ'ﬁ'ﬁﬁ aﬁr crw

C @ e
@ aﬁﬁmm e oo
mﬁﬁ’r El‘a T ?1‘ ﬁi“f 1'ff @r ﬁﬂ“ﬁ’r
_.i__?<1> a aaﬁars:aaa ma‘ma m %

A




111, _I-r_x_.a' given food chain 1f frog has
- 100J of energy then the energy

: ' ‘respectively will be : e
: L' X‘f 5o Plants - Inc;eq;i, Frog -~ Snake
)(\T (1) 1000 J and 10 J
(,w/] 0000 J and 10 J°
. _(3) 10 J and 1000 J -
) 1000 J and 100 J |
‘ 112 Lharactera that are transmltted from
D 'Parents Tt offsprmg du_nng
"reproductmn show IR

LA(D) On]y Slmlldl:ltl(,b w1th parents ..
J%/Only Varlatlons Wlth parents

(3) Both szmllarltms and varlatzon-

‘with parents . -

o (4) Neither
Varlatlons wn;h parents

-'1'13.'_'5-11{3]1\! WAS. absent in class clue to

_ ' :'to excess of phqual exer(:lse he has
o __'\__done yesterday The pam 18 due to:

' '_ () F ormation of Pyruvu, Ac:1d
S @ Formation of Acetic Acid .
."'(3) I‘ ormatmn of Lactlc ACld | _
t);l’( ]’ormatmn of Hydrouhlemc Acui

114 “Which ‘of the followmg constltutes a_ '

good food chain ?
(1) Grass, Wheat, Mango

.Mlass Goat, Lion_ . _
(8) Goat, Cow, Elephant
(4) Grass l‘lbh Goat

'- 'N.TS_E(LgyglJ_)_E;.:am_Nov.-2_017 o

~available with plants and snake .

iz W Y i aﬂ—:r ana {,rﬂr s

-' smularltles ~ mor |

 113{?.‘

111 & W emER SEe ¥ ook few S
100 J oFwb R A e a‘_m &
'__EEIT?T Gtzawwf@?ﬁ Lo

t?ri‘:#dﬁ‘w ~ M -

ROy 1000 JT10d
(2) 100004 d9 10 J
® 103w 1000 J.
@ 1000 J e 100 J

|  _1<1> R & S
@ W @ daw P
""‘-(3) wfﬁ?ﬂﬁ aﬂm‘m‘c‘rﬁmw ar

_(4) w—fﬁm%mfﬁmmmwm"é’r

-.'(1) msrﬁrasemasrm
: -.(2> wﬁzﬁmiﬁrm
"(3) WWWW

o ".(4) E’E‘Qﬂ%ﬁﬁ’cﬁ am«r Eﬁf *&m‘m

'(1) BT, ﬁ@ o -
@ T, e R
@) aﬁv‘& Y, ’srra?r

"'(4) EF[H W@Eﬁ‘ aaaﬁ




_ gel “in" which
'-__dls,pexsed phase 1s solid. and

. dispersing modium is liquid.

¢ " Example . of -,‘-‘emuls“i.(.)'n. 111 ;vhi.ch

"'dl'-;persmg 1m.d1um is. hquld
' '_}_'EX'lmple Coftigel - in. whlt,h
o dlbpubmg mcdmm Jq sohd

If the aluminiﬁm salt.'o'i.' éﬁio'n X s

' f‘X’ w111 be e /@ T

@ Max,
(®) Mgx
) MgX,

TSE(Lev_el»l) Exan. '}_\‘fov. - 2017 -

115, ﬁ?ﬂﬁfﬁvﬁﬁﬂwaﬁm%?

{2 q:ﬂz w é‘ﬁr % Wqﬁéﬁﬁ

:."_-::_dlsp{,]"b(.d phase s sohd and :

“.dispersed phase- is hqmd and: :

uﬂfﬁﬁ-ﬁﬁﬁﬁm

_;Al,‘Xg the formula of magnesmm salt :

'7fu)46gﬂhqwq
'_(@ 8¢ O, &
'(s) ow’ﬁﬁamhmrﬂ
4) 28¢ N)“TWGTE'L |
116.\'_W%Wﬂﬁﬂﬁﬁfﬁqiﬁlw,
”i u)qﬁr$5$mmaﬂmm®1%%mﬁ'

| _qﬁ%ﬁzmmnawr%@ﬁqﬁ%w5
'_":Imm@aﬂ% S

- meen SRR R trﬁ‘%trw m‘wm'“'
""-(3).-14?11? SR S %‘f %mﬁ
) .qﬁ%ﬁﬁwmaﬂ%eﬂrqﬁﬁw_
-'.-qu%‘m%s :

-mwwa‘m%l U

ALX, WO A E E?r ﬁﬂﬁﬁﬁm aim
wXF HTET rﬁ ﬁ‘r?rr

-’.(1) Mng-

- '_(_9? ng_:; e e

(1) Mg,X,




118. On reacting a éompound of calcium
- (x) with water ‘compound (3) - is
~obtained. (y) on boiling with NH, Cl a
gas (2) is obtained. % y, & =z
respecti.xfely are:

(1) CaC0O,, CaO, NH,

= S ™

(@) CaCO,, CaO, CI,

@ Ca0, Cally, Cl,
119. A metal x is placed boldw Al and
~ above Pb. The extraction of metal is

O3 +H0

done. by 1La(,t1ng Larbon with its

t%a
/%

cracks of machme parts and rail
hnt.s by rea(.tmg 1t Wlth A? The
metailq

Q) Zn

MCU,
(3 Fe”
(4) Mg

A w]ourless 2as W1th chokmg smel] is
evolved when Cu’ turnmg are heated
with Cone. H2.5‘0 r[‘he gas is ;

@S0,
@ 8o,
L @® S
@) S

120.

121, Acetm amd 18 reduced with LLAUL,

cﬁ’{

" cf"o U Ms

"gwe.

(1) CH,CH,OH

S 01:1301{0 |
“(3) CH,0H -
@ CH,CH,

NTSE(Levelul) Exam Nov - 2017

oxide. Metal. oxide is used to join .

(40)

'_"%mﬁaa%zﬂqrg%rﬁmﬁ
IR 1 D S I
T o B uR offedEe W Al
A sl S weld ot w g
q%’f crc*ﬁtﬁ H W Gﬁ:c:?f ﬁ f?ﬁm e
(1) Zn
C(2). Cu
(3) Fe
| @ Mg o
120, T aR Eé”r Eh_d‘Gﬁ Eﬁr I 280__4_
-'-_-wafrﬁﬁﬁmw%ﬁ &
@ s, Cnen
@ HS
WS
121. Rl ot @) LrAr‘H f—r G?C[ﬁﬁ'lﬁ c‘h‘{?r

B

118, @R & w AE ) A &
sl & A () W S
@) @ NH,CL D T T W (@)
WW@@W%Ix,y,zEFYHQP%I

(1) CaCO,, CaO, NH,

. (2) CaCO,, CaO, sz
'(3) Ca0, CaCly, Cl,
(1) CaO, Ca{OH),, NH,

119, 5y x Gibear IR AL AT Py

U A e R

O CHCH,OH
@ cmcro
(3) f-:(:Hng -

(4 CH,CH,



(g?._:

B

Read the “statements about carbon
iehoose correct option :

It has small atomie size, ©

B Its melting & boiling point is low
. _1-_33 compared to other members of

?;' group.

. It shows electropositive character,

- catenation.

_-j_\, B are correct | _
: A C & D are correct. |
(4)A& D are correct . o

thch of the following metal is not
piaced in eighth group. oi’ Mendelcev
"'pemochc table 7

_- j‘(l) Te
.'5(3) Pt

-Na__
(4) N] N

. _':Bakmg powder is g m;xture of
-_1;(1) Sodium .
- hydrogen carbondte -

Carbonate
Sodium car bonate & Accuc acid

h mcthanmc acid

4 ,Sodmm hydrogen carbonate &
tcu Lenc amd ' R :

. Which of the foilowmg elem{,nts form

CAL "L]Lment w1th atormc no '? /L/
L 5 ({
sl
'.19F\' '
YRR C

(4) Only A _

L .
_- a(,ldlL oxld(_ 9T

-_ B Elem{-:nt with atoml_c 11_0.
o C Element with aﬁbmidno;
D. Element with atomic no.
() A&B
(3) B&D

TSE(Level-1) Exam. Nov. - 2017

. It shows maxxmum Lcndency of

& _Sodium

3 ('3) Sodium hydrogen Ldrbnnate &

(41)

122,

A

jm$r%zmﬂﬁ %ﬁﬁ%‘mﬁ‘ﬁ
- ufvw o] ge? B g
A $ﬁﬂﬂﬁ3ﬂ@ﬁ®a%l

B. ZHH TEHE d LA
- wEE o smEwy R

C. 7% Fgmyers @R ﬂaﬁh T
B |

D. 7 o Bl et ﬂEﬂ"ﬁ Eﬁfﬁf‘d
o Bl |

e 3 S

() AFB wEE
'~Q)Babﬂﬁ%
(3 ACID W ¥  '
i-@)hanﬂﬁ% o
123, fr % § Bl g Al o oomd
- mvﬁ%ana%faﬁﬁ ?B?Td’f%? -
..(1') Fe (2) Na.
'u)Pt M)Nx

124

,aﬁmmmﬂqmﬁmw%

' U)ﬁ%m‘m%%E:@%w{w§mﬂ

FEME H

' k@aﬁ@m mﬁkéﬁﬁ%awmmr

(3) e eEgem Chlﬁitﬂd a fﬁarm‘iszﬁ

TR @

'-JM)@%mimﬁﬁﬁﬁﬁﬁfaa@%m}

  u)AﬁWB
@ BIRD

o0 w B

R 9l

.FP:[ ﬁ ﬁzﬁﬂﬁ ?ﬁﬁr di*ﬁfllq dﬂcfﬁ|55

Wﬁﬁmmqmmammv%
T R WA A 3 Y
-maﬁwmwmmammls%
maﬁwmwmmﬂm%19%
@ AdRC
() F7 A

- _P'...l’r:.: O. .




- 126, KMnOyis a stmng oxlchsmg agent in
¢ acidic medium. To plovxde acidic

medxum H,S0, 18 u%ed instead of HC!
because

: %{QSO,,_ is stronger acid than HCI

() H,80,1s a dibasic acid

N ¢)) H_C_l is oxidised by _Kl\_dﬁfr,(),1 to C?z
| (4) Only H,80, is comp_letelj;r- ionized

~one labelled as Assertion (A) and
other as Reason (R). Examine these

As_ser'tion- . (A) and  Reason R

correct pr]andt}.on of (A) select your
~ answer usmg the code given below :
' '};sertzon (4).: C‘Oz is a gas-but 530,,
is a solid at room tempexature
_Reason (R) . CO, (.o__n_t}:gm C=0

CSi= O bonds.

coxrect cxplanatmn ofA

| (Z) Both A & R are true bus R is not
o cdrroct e:xp]anatlon of A '

'.'(3) Al is true Ris fa]se e
(4) As false R 1s.__tr.ue_ .-

128. Trippling the speed of a motdr car

Stoppmg it by - -
V @e (4) 12

NTSE(Level-l) Exam. Nov - 2017

-1_2_7. g § & pe Ru W ¥ R A w

127. Consider the two statements -below _

* two statements carefully and decide if

indiv'idually true and if so (R) is a .

~bonds  but SiO, does mot contain

ﬂBoth A& R are true and R isa

- multiplies the dlstanw 11oeded im_

126, KM:LO ol e F U HER
. sﬁzm‘lw ¥ ol wrern IO HE
& fw oHa %Wtﬁ hgi 50,

(1) H,80, HCI # eﬁ&_ﬁ e areT &
@) H,S0, b wdRw oA ¥
 ® EMnO, HCL a?r (,aﬁe ki aTFR%ﬁ
| T AT %

‘(4) %aaﬂso gﬂiw M@@m.%

- TPRpe (A)%Wg’\wﬁﬁﬁé(ﬁ)%
- ®YH E eEEE U @ 9 g8 fefy
o e aRERE (A) quT R P
e ST e € oqur Fresy o
o ol A By #T%’Iﬁqfr% e B
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-:'b.'b'djes of masses m, and My, are
ped from different heights 'a' and
he ratio of time tak(,n by them 10
the gmund ig S o

Ound wﬂ.h a speed of '3v' '{‘he
' of the bulldmg 1s

3

COIiected at the neck Phenon

3 voltmeters all havmg dif fel ent

1stance ale jomed as ~shown.

voltmeter are V,, Vz and V;

'S'V%._*”-V?; Vs

;S.E(Li_a_ve_l—l_') E_'xam. Nov, -:2_0 17

M‘”‘“&

e ébllected at the wall of bottle o

n. some potent:lal dlfference TR
"llefd_ across Aand B, then rcadmgs B ;

@ V+ V>V, -

}
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A 3{1

(1) 24V _- (2) OV

(4) 18 V

-7 134, Fhr(,c equal resistors connecfed in.

.. series across a source of emf d1331pate
L 10 watt. If the same 1631%0] s are
emf Lh(, power dlasxpated w111 be

‘ (1) 10 watt 30 watt

o (3) *1—39 Watt 'j(4)_’_-'9,0 Wa_tt' L

. '_'_-'1_3_5._- .-A long wzre carries. a st(.ady culrent

_'_-It is then bent mto a urde of one )
turn and magnetle fleld at the centre
:f'B Then it ig: bent into -

' f'._.'.of 0011~-1s,-.

_-f__.1mage 'from prmc1pal foeus, of a'__ .
_-f.concave _mlrror then what is. thc S E

(2) pq f
--_'j'.e<3) meft
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141, Non Co-operation movement was

- withdrawn due to: _
(1) Jallian Wala Bagh Masscare
(2) Chauri-Chaura incident
- .Mﬁowiatﬁ Act introduced
o 4 Nehru Reports Rejection_

' 142_. The term Liberalism'is derived from
" the Latin' word 'Liber’ meaning: -

. (1) Deﬁiocrétic o
'i,@éj/Capitalist |
7 ® Socialist
_ {4) I‘ree o
148,
~“which foIIOng year‘? o
r«{( 1788 @ 1789 |
@ 179 @ 1791
144, '
- unification of Germany ? 7.
"_-(1) ‘Chief Minister Wllham I
(__(2}/ King William - 11 c

(3) Chief Minister Ottovon Blsmarck _

(4 King Ka1sa1

- 145, __Wh@ among the following was

- enemy of socxal order by
Mettermch'?

uﬁ/ Louis Philippe

(2) Karol Kurpinski | =
. 3 Johan Gottfried -
. (49 Guiseppe Mazzini

. N'_I‘_SE(LeveLl) Iixam. Nov. - 2017

The I‘rench Rovolutwn occured in |

Who was the chief architect of the

descmbed a8, the -most dangerous'
Duke_.'

(46)
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“in Vietnam were

;elfully influenced
__mg Lultme 7.

"Iuynh Phu So -
._han.Boi Chau
._..1_15:111 Chu Trinch _ _
he 6f_ﬁci.al of'lnipe:ial (:-DL:ll‘I_} -

'__n!_.lary 1.930_I Gan&hi_j_i _Wrote'a

v stating . (asking)

¥ 3

'-_ada Bhal Nawﬁ Vo

uu,ndranath Baner;ee

C_-.\ BDHHGI‘JL@

mpal Knshnd Gokhale

een Beret' ? L
_._.TO Glor 1fy Wa1 :'.;_ -:; : -
':rf‘o (zloufy Pcdcé
3y To Glorify Souahb?n
. _:To Glmlfy Lapitahgm.
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by which

© 'Eleven

at'was Lhe theme of the movie
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151, Who  is the writer of
Mataram' ?
| (1) Rabindranath Tagore
(2) Subhash Chandra Bose
(3 RajaRavi Verma
) Bankim Cﬁandra ‘Chatterjee

_ (Chattopadhyay)

ib2,
. of the following country ?

\_LY{ Elngland.

(3) France

- (2) America -
(4) Russia

1_53. Under which of the following type of
* resource can tidal energy be put ?
'(1)"' Rejalenishable : R

c_,(fZ{ Human made

__(3) Abmtlc .
(4) Non-recyelable

.'154. In which of the fo]lowmg stato is
- _1a1011te s0il found ? ‘ '
(D Jammu and Kash_mif._
(2) Kerala _ |
‘.,QA-)/ \Uttarakhand .
(4) Jharkhand .

155. __Whicii of the “following describes a

- system of agriculture where a single.

erop is grown on a large area ? -
: ( 1)_ Shifiing Agricu].ture

) PEantatiﬁn Agriculture
| (3) Horticulture - ' |

('ti) Intensive Agriculture

' NTSE(Level-1) Exam. Nov. - 2017 -

| 'Vaﬁde '

"Trade Unions' first started in which
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| .akhapatnam e

__'on(, of th(. followmg agenm%

IAIL (2) bAIL
T-A STL;EL(!I) MNQC

onazn:e sandq" SR
(2 Ulamum
(4) Coa}

/Imt,ral 011

red, yellow or brown
'.-"-Limestonc is- fourid
w1th
carbonates _'_?.gr
_magnesmm carbonates

composcd_ f
aluum
: '_ and great mal!eab:thty

- in'ore!.

Levcl—l) Ex.un Nov - 201’7

"et_bteel f01 thc puhhc 5ect0r .

Mlca can be cla,al bldbk g}.een,\" X

, _'Alumlmum has. good conducmvny .

_Genurally mmelals are not found .
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A

.7 161, Match the following :
L salt water lake @)
' in India o
2.._ -~ active voleano i - (ii)
©lndia ' _
8. Tsland which. is (i)
' uninhabited . ' _
i 4. A riv.er island | v
- situéted in l'i\;?er -
" Brahmaputra -
(1) 1-iv, 21, 8-, 4-iii

mmlv 21, 3-ii, 4-4ii

_(_an

- Barre :

- islﬁnd.

) Pithiisland®D ~
) Majuli 3
onikal 4.

C(3) 1-dil, 24, 8-dv,dei
@) 1, 2, 3l 4y

. 162 Himalayas have been divided on the
.. basis. of regions from west to east

Which is known as ;

1, -_'The. part’ _of (1) Kuméan

""'Hi'malayas _
lylng hetween ’
Indus _ and _
Su‘rlu,] ;

s _-Hi_r:l}al'aya& .

2 The part of (). Punjab

Hunalayas e
lymg hetweeh -
butlu; . .a_nd_
I{all . o

" Himalagas . -

3 “The part lying. - (iiij Nopal -

- :_'.j'b_e_twe.ejn Tista. -

_H;malayas_ -

4 Thepaxt iyiﬁg (1v) Asr-sam |

7 between - Kéﬂi_{f

@ 1-«111 2-11 8-, dmzvz%
. NTSE(Level-1) Exam. Nov. - 217

Hnnalayas i

N . / andTista .

_' \,V)/ ]«—1 24, 3—111 /1—1v§
(2) 3y, 2-ii, 3-i1, 4= -
(3) 1—«11 2—1, 3—~1v 4—-111 -

4 .57'@'133? aéT iﬁ‘ (w)ﬁ’-]@

162 R 1 trfﬁ%m A t{c? e ﬁaﬁ%‘aﬁ%

.."_'_'(1) 1«—1 2*11 3-111 4—»1v:' ) "
(2) lmw 2-111 3—11 Ai SR
.'ﬁ'.(3) 14, 2+, ‘3~1v 4*11:___:;"_:"' o
'-__'.(4) _1——111 2—11 8~1 4»-—1v_'_-':.'_.'

Gﬁmﬁrcfﬂ“erff?rﬁm SRR
CHRE - H ’@Tﬁ (1) :@RW(
U @ RIS 11: o

L2 Wma # H‘i?ﬁt{(n) ft‘mﬂmq

| :'3:. Eﬂq \‘ﬁﬁ I{T&‘:{ (111) HIGiiﬁil

S(1) 1y, 2_ ~1i, 31, 4-111 B
”(2)- 1-iy, 24, 3-11 4»*111_"-_.. I

(4 ’1—»11 2 i, 3 —iii, 4——1V-_

AT Y ﬁrﬂﬂﬁﬁa
Gﬁfﬂw%

ﬂﬂ@"ff ‘i’."q (1)
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“Match List T (River) and list 2 (Dam)
nd seleLt the conecf clIlGWBI‘ usmg
_c,odc given below A
CListl '__'List,z |
"_:'(Rlver) o (Dam)
"-.Mahanadl (i) -_'N_E}gar}'un
'Krlzshna - .(fl\-i)_"“}\_’lett_ur
. Gi) Hirakud
. (i ) Bhakhra
e Nangal

.. ..Z 1~1, 2—11, 3—1v, 4—-111% L
9). 14, 2-iii, 3-iv, 4-i .
) 1-iv, 211,84, -4—.5.11&: R

Kavel i "

L 25 B, 4l

Match thc following amma.ls with

givén below :

':-Amma.ls S -'_Category of
AR ""existence

'-:-Black Buck (1) “Extinet -

(11) Endangered

1—-1 2.—11 3— 111 4—~1v . :
_____..1—~1v 2—-111 3~i1, 4——1/1} |

1, 2—11, \d-_—l,-"—i-“-l}’ R

L._e.V:G_}l-_l) Exam. Nov. - 2017 -

theli category of existence and select -
'le_ correct answer. uSmg the code -

Ry Sty } B

(51)
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1, 24, B-dv, 4
1-i1, 2 —iii, 3 —1v, 4—1_' o
1-1v, Z—-11 3-—1 4-111'” 5

1~—m 2r1 3—-1v 4-11 .

(W
@
E (3)
" @

_.'-”._:.ﬁﬁaﬁawﬁqm@gmmmg
mﬁﬂafm‘

(i} @‘?T
(11) W ?R‘:’T

@
@

1—1, an, _3~111 4-1v o
7-1_v, 231, 31y, 4-'_1- :

1-iit, 21, 8-, d~iv-
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165 thh of the i‘ol]owuw bouk is-writ: Lon :

by Kauulya ? T
(1) 1’0111,103 S
';MJVH Govelnmem

_"(3) Arthashastm

{4 Tb(—_} Prince .

- 166. _\Whjc.l'}. of the followiﬁg s'tat,e does not -

= _.have coalition government ?
"(1) Bihax | |
"(2) Jdmmu Ka%hnﬁr .
\_,@)/ﬂCma_.--f .
4) Orlfssa

f""l_G'?.,__Whlch of the: fo}lowmg nauon ‘has

3-par11amenta1y govemm:,nt but ig noz. E

mpubhc" o
{1} Indm . (2) UK

.L/e?/@hma

168 I’e:sonahmes '-_'c'n“:_ whlch of the

. Nopa]

'followmg group do not match 1n Lhelr' o

.posmons ?

':(1) PL Jawahalidl N(.hru V. P,

._Smgh and Dl b Radhaknshnan -

-\Dr Rajcndla I’rasad D1 V.-‘.\_Z

o Ahmod

3 Lal Bahadm bhasm Nflealmh‘]
- Rao and Manmohan Smgh

{4 Lala Lajpat Ral, Bal (xangadhar.

_ Tilak and Bipin Chandra Pal -

. NTSE(Level-1) Exam. Nov. - 2017

.:._'Gm and D1 1<,_i_];}_n._ud.d.1n Al}
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i_a'_-'_ hﬁb _adop
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1 had booked a ticket in ‘Rajdhani
’I‘he

: delayed for long houm wlthout any

1 .73

o Superfdst train. tram was

o 1eason In thm situation :

6 I can not approach consumer
© court as tmm deiays can happen

sometlme

I can f]le a complamt in razlway

office as t.laam refund of tlckc

‘amount,

i 'c_an approach. consumer court
for deficiency in service and
claim refund of superfast charges

.as damagc :

i '(4) : I.' can cancel my ticket- without

- raﬂways
174,
o countyy is Rs 5,00,000 .crore in any
accounting year. .- and _:ihey have

- recaived foreign aid 6f Rs. 1, 600‘ crore
T in the ‘year. In (this: “situation,

- would: -

et \'I_r__lcre'aée'by Rs. -l 000 cfore
. (2) Decrease by Rs 1 000 crore -

’ __'_'(‘3) Remam same .

| ) Increase by half of.the fof_eign aid

NTSE(Level-1) Exam. Nov. ~-2017

paymg cancellatmn chaiges to

Assume that natlonal mcome of a

) _natmnal mcome of that countly-' -:-
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sy g ’A

':nentatlon of_GST in the | 175, 91
shnpkt,c,per has_ gwcn a. o

'ndary._ Sector S @ %ﬁw%ﬁ F

y s;-, o oo

_   %ra“*7-ww®wm%ﬁ=_
rm of co]umn_ '1 wnh 176 FEHE 1 ﬁ zﬁﬁ F A 2 . 4 ﬁaﬁ- -

- .'(11) Mmes

3 '..:'(111) Machmes

':_'_"'3_(1v) Purchasmg_ o

_"_'_des'pité less ~calories. A77. 8 i .
ment - urban areas have a —
ovcrty hnt, 7 oo

cause of h]gher plu.ea, of many_'-__. A4
sentlal commodltws m urhan C0 R

an.peopie eat mme m hotels .

causes of povelty are dlfferent in -

urban aveas . o -
: (4) %rt’r aih %ﬁm w rfqrerr va-éf zmﬁ o

ban people mcul more medlcal_ X
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